RIRIRE

A2 (TYPE) : YFI

BALL NUT

B R BEAFIEFF 2% (Stock Rollde Ball Screw Series)

]
S‘ (00
(01 Hole)

41

pry .
Q

" 011 flote)

BAY (Unit) : mm

[:5F% Lead Da:Bk4% Ball Dia. n:EkFE#%r Number of Circuits

Ca:shAiE i Basic Dunamic Rating Load (Kgf)

Coa: F#4NE 7ifif Basic Static Rating Load (Kgf)

U= RERL2AT, 2RFEUERUE Dimensions

Model No. d | Da D|A[B|M| L W H X Y YA Q [n| Ca Coa
YF11604-3 | 15.3 | 4 | 2.381 | 30| 52 (10|12| 72 | 38 | 34| 4.5 | 8 | 4.5 |M&6X1| 3| 435 920
YF11605-3 15 5 3 301 52110|12) 88 | 38 | 34| 4.5 | 8 | 4.5 |M6X1| 3| 765 | 1320
YFI2004-3 | 19.5| 4 | 2.381| 33| 58 |10|15| 79 | 44 | 40 | 5.5 | 9 | 5.5 |M&6X1| 3| 600 | 1010
YF12005-3 19 5 3 35160 |10(15| 96 | 46 | 42 | 5.5 | 9 | 5.5 | M6X1| 3| 1430 | 2150
YF12010-3 [19.35| 10| 3.175| 36| 60 | 10|15 98 | 46 | 42 | 5.5 | 9 | 5.5 | M6X1| 3 | 1050 | 1770
YF12504-3 | 24.3 | 4 | 2.381 | 38| 66 | 12|15 78 | 51 | 46| 6.5 | 11| 6.5 |M6X1| 3| 610 | 1040
YF12505-3 24 5 3 40 | 68 | 1215|1115 | 53 | 48 | 6.5 | 11| 6.5 | M6X1| 3| 1590 | 2720
YF12510-3 | 24.5 |1 10| 3.969 | 42| 70 [ 12|15 135| 55 | 60| 6.5 [ 11| 6.5 |M6X1| 3| 1120 | 2420
YF13205-4 | 31.6 | 5 3.5 |48 |85 |15|20| 115 | 65 | 55 9 14| 8.5 |M8X1| 4| 2160 | 4000
YFI13210-3 | 31.6 | 10| 5.556 | 52 | 87 | 15[ 20| 152 | 67 | 56 9 14| 8.5 | M8X1| 3 | 2550 | 4690
YF13220-4 31 20 3.969 | 52 | 87 | 15[20| 145 | 67 | 56 9 14| 8.5 |M8X1| 4 | 2295 | 3706
YF14005-5 | 39.58| 5 3.5 [ 55| 9015|120 120 | 70 | 59 9 14| 8.5 |MBX1| 5| 2910 | 6410
YF14010-3 |139.51| 10| 7.144 | 64 |106| 18 | 25| 146 | 81 | 72 | 10.5( 18 [10.5 | M8X1| 3 | 3910 | 9520
YF14020-3 38 20 6 64 1106118251 195| 81 | 72 | 10.5| 18 | 10.5|M8X1| 3 | 3790 | 6280
YF15005-5 49 5 3.5 | 68110118 25|1120| 85 | 75 |110.5| 18 |10.5|M8X1| 5| 3150 | 8030
YFI5010-4 |49.31|10| 7.144 | 75 |117| 18|25 178 | 92 | 80 | 10.5| 18| 10.5| M8X1| 4 | 4340 | 2070
YF15020-3 [48.15| 20| 6.35 | 77 | 11918 | 25| 196 | 94 | 82 | 10.5| 18 |10.5|M8X1| 3 | 4780 | 8750
YF15040-2 48 40| 6.5 | 77 1119|118 | 25| 156 | 94 | 82 | 10.5(18|10.5|M8X1| 2 | 3210 | 5580
YF16310-4 | 62.55| 10| 7.144 | 86 1138| 22| 30| 205 | 107 | 97 13 120 13 |[M8X1| 4| 7400 | 17860
YF16320-3 | 62.55| 20| 7.144 | 95 | 146|122 | 30| 208 | 116|100 13 (20| 13 |M8X1| 3| 5320 | 11210
YF18010-4 80 10| 7.144 1105|155 22 | 30| 232 {125 110| 13 | 20| 13 | M8X1| 4 | 8440 | 22710
YF18020-4 80 20| 12.7 |1125|165| 22|30 315|145|130| 13 | 20| 13 |M8X1| 4 | 1522635749

TiE: A RE AL T AT A L iR

BUNTREBEERATRLE

Shenzhen Weiyuan Precision Technology Co., Ltd.

Note:with sign % can produce left helix

Http://www.wy-sz.com




